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Go Backwards:                                                                        *Inverses ____ one another 
 
          

Examples:    a) 𝐹 =
9

5
𝑐 + 32                                            b)   𝑉 = 𝑥3 

 
 
 
 
 
 
       

 
             2) 

 
 
 
1.  Determine if two functions are inverses: 

a) 𝑓(𝑥) = 2𝑥 + 1, 𝑔(𝑥) =
𝑥−1

2
                        b) 𝑓(𝑥) = 𝑥3, 𝑔(𝑥) = √𝑥

3
                            c) If f(1) = 4 and f(2)=5. Find: 

                                                                                                                                                                    𝑓−1(4) = 
 

                             𝑓−1(𝑓(2)) = 

       
         
         
         
 
         
 
 

                                                  Not ____ - to - ____ function 
 
 
 
 
 
 
 
 
2.  Determine if each function has an inverse.  (Sketch a picture) 

a) 𝑓(𝑥) = 𝑥2 − 9    b) 𝑓(𝑥) = |𝑥 − 3|                 c) 𝑓(𝑥) = √5 − 𝑥2 
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NOTE: Inverses reflect each other 
over the line _______.  
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Definition: Inverse Function 
 
Two functions 𝑓(𝑥)𝑎𝑛𝑑 𝑔(𝑥) are inverse functions IFF: 1)  
 
                   2)                                                                                
 

Definition: One to One Function 
 
A function that has an _________ 

1) Every ____ has EXACTLY ____ ___. 
2) Every ____ has EXACTLY ____ ___.  Must Pass ___________ + _________ Line Tests 
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4.5  Inverse Functions 
 
d) 𝑓(𝑥) = 2𝑥 + 1   e) Given 𝑓(𝑥) = 2𝑥 + 1, find 𝑓−1(𝑥) 
 
 
 
 
 
 
 
 
 
 
 
 
3.  Does the function have an inverse?  If so, find a rule for 𝑓−1.  Show that they are inverses, then graph. 

       𝑓(𝑥) = √3 − 𝑥 
 
 
 
 
 
 
 
 
 
 
 
 
4.  Find a Rule for 𝑓−1(𝑥). Sketch Both.  
 

a) 𝑔(𝑥) = 𝑥2 + 2, 𝑥 ≥ 0            b) 𝑔(𝑥) = 9 − 𝑥2, 𝑥 ≤ 0 
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